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[ Assay of the height of the mountain using the similar
ratio of triangle which we looked at from top of the mountain |
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HEES English translations above-mentioned
There was a mountain. We want to know the mountain height. | knew that
hillside of the mountain distance is 455 meters. So | went down 3.64
meters from the summit and stuck a rod. The rod length from there to the
top was 2.7 meters.
From the left figure, because triangle ADE and triangle ACB are similarity,
side AE and BA’s ratio is 1:100. So side DE multiply by 100, | found the
mountain height is 270 meters. Triangle’s resemblance ratio is 1:100
because side AB divided by side EA equals 100, so we know length of AC
because side DE multiply by 100.
More over there are same in mountain’s slope so there are crookedness
for research rod or rope. It is better to research with moving like making a
circle from top of mountain. &%) 58

YONEKAWA and YANUMA are in charge of this.
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Mathematical contents
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Triangle ABC’s angle C=90° ..(D Triangle EAD’s angle D=90 ...

From ),2), angle ACD=angle EDA..Q

Side DE is a parallel line to side CA @

Angle BAC and angle AED are alternate angles from @.

So angle BAC=angle AED ...®

Because, side AC and side BC, side ED and side AD are straight lines

crossing at right angles, side BC and side AD are parallel lines...®

Because these angles are alternate angles, angle ABC =angle EAD...@

Triangle ABC and Triangle EAD are similarity from®),®,®

Side AB is 450 meters

Side EA is 4.5 meters. So triangle’s resemblance ratio is 1:100,side ED

is 2.7 meters.

Therefore mountain’s height is 270 meters. & RN -RB
YONEKAWA and YANUMA are in charge of this.
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Summary, The problem in future, Impression

Summary

from the length of the pole which | put up on the slope

The problem in future

As a leader, | want to tell member to help others working if each one finish own working. And I think all of
A group leader YAMAMOTO

the member work more quickly in cooperation. | want to act to do it.
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Impression

No one has done this project in the world. We did first,
In this wasansyo, | demanded the height of the mountain so | was interested.

But when we tried it actually, it was very hard. An

of the mountain and the length of the ropes from the top allotment was separated,but | cooperate in a difficult

of the mountain to a pole using triangular similarity ratio. problem each other by everyone and have completed it.
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